

Prevalence Detection of Human Intestinal Helminths in Aljmail City - Libya

Omar Ahmed Omar Amar ^{1*}, Miloud Omar Asarat ²

¹ Department of Medical Laboratory, High Institute of Science and Technology, Zaltan, Libya

² Department of Food Hygiene, Faculty of Veterinary Medicine, Tripoli University Libya

*Corresponding author: omar211973@gmail.com

Received: December 30, 2023

Accepted: February 15, 2023

Published: February 20, 2024

Abstract:

Qualitative detection of helminths in human faeces samples alongside patient questionnaires has been used to study the prevalence of intestinal helminths in Aljmail area. Among of the 66 samples that were examined (i.e. 66 patients), we found 23(34.8%) patients were infested with helminths- Enterobius vermicularis helminths which was more prevalence 22(33.3%) than Strongyloides stercoralis worm infestation 01(1.5%). These infestations have been associated with other parasitic infections including Entamoeba histolytica 2(3.0%), and Giardia lamblia 7(10.6%). Regarding gender, infected males with helminths were 4(6.1%) while infected females were 19(28.8%). Intestinal helminths infestation is associated with various patients complaints, such as 17(25.7%) abdominal pain, 4(6.1%) nausea, 12(18.2%) frequent vomiting, 12(18.2%) flatulence and diarrhoea, 18(27.3%) loss appetite, 15(22.7%) anaemia, and 17(25.7 %) anal itching. We found that the prevalence of worm infestation was correlated to patients poor hygiene as 14(21.2%) had long nails, 8(12.2%) had family members infected with worms and 19(28.8%) had primary or lower educational levels. It is required to examine persons with worm infection, prescribe suitable medicine, health attention, and individual hygiene to minimize and prevent helminths infection.

Keywords: Intestinal helminthes, protozoa, helminthes prevalence, Libya.

Cite this article as: O. A. O. Amar, M. O. Asarat, "Prevalence Detection of Human Intestinal Helminths in Aljmail City - Libya," *African Journal of Advanced Pure and Applied Sciences (AJAPAS)*, vol. 3, no. 1, pp. 134–140, January-March 2024.

Publisher's Note: African Academy of Advanced Studies – AAAS stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



Copyright: © 2023 by the authors. Licensee African Journal of Advanced Pure and Applied Sciences (AJAPAS), Libya. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (<https://creativecommons.org/licenses/by/4.0/>).

الكشف عن انتشار الديدان الطفيلية التي تصيب أمعاء الإنسان في مدينة الجميل، ليبيا

عمر أحمد عمر عمار ^{1*}، ميلود عمر السراط ²

¹ قسم المختبرات الطبية، المعهد العالي للعلوم والتقنية، زلطن، ليبيا

² قسم الرقابة الصحية على الأغذية، كلية الطب البيطري، جامعة طرابلس، ليبيا

الملخص

تم استخدام الكشف النوعي للديدان الطفيلية في عينات البراز البشري إلى جانب استبيانات المرضى لدراسة مدى انتشار الديدان الطفيلية المعوية في منطقة الجميل. من بين العينات الـ 66 التي تم فحصها (أي 66 مريضاً)، وجدنا أن 23

(34.8%) من المرضى مصابون بالديدان الطفيلية، الديدان الطفيلية *Enterobius vermicularis* التي كانت أكثر انتشاراً بنسبة 22 (33.3%) من الإصابة بالديدان *Strongyloides stercoralis* 01 (1.5%) وقد ارتبطت هذه الإصابة بالعدوى الطفيلية الأخرى بما في ذلك؛ المتحولة الحالة للنسج *Entamoeba histolytica* 2 (3.0%)، والجيارديا اللامبلية *Giardia lamblia* 7 (10.6%). أما بالنسبة للجنس فقد بلغ عدد الذكور المصابين بالديدان الطفيلية 4 (6.1%) والإناث 19 (28.8%). وترتبط الإصابة بالديدان المعوية مع شكاوى المرضى المختلفة، مثل 17 (25.7%) آلام في البطن، 4 (6.1%) غثيان، 12 (18.2%) قيء متكرر، 12 (18.2%) انتفاخ البطن والإسهال، 18 (27.3%) فقدان الوزن الشهية، 15 (22.7%) فقر دم، و 17 (25.7%) حكة شرجية. لقد وجدنا أن انتشار الإصابة بالديدان كان مرتبطاً بسوء النظافة الصحية حيث أن 14 (21.2%) لديهم أظافر طويلة و 8 (12.2%) لديهم أفراد من الأسرة مصابون بالديدان و 19 (28.8%) من المستويات التعليمية الابتدائية أو الدنيا. يجب فحص الأشخاص المصابين بعدوى الديدان ووصف الدواء المناسب والاهتمام الصحي والنظافة الفردية لتقليل ومنع الإصابة بالديدان الطفيلية.

الكلمات المفتاحية: الديدان المعوية، الأوليات، انتشار الديدان الطفيلية وليبيا.

1.Introduction

The human is considered the host of nearly 300 species of parasitic worms and over 70 species of protozoa, which were emanated from human predecessors and from surrounding animals (Cox, 2002). Helminths have been infecting humans since prehistoric times and remain impacting on the human health particularly poor people in developing countries (Sanchez-Vegas Villavicencio, 2022).

Helminthic parasites are multicellular, bilateral symmetrical animal having three germ layers, they classify into two phyla: first phylum is Platyhelminthes include two classes- the Cestoidea and the Trematoda, and second phylum is Nematelminthes includes class Nematoda (Chatterjee, 2009).

Cestodes are worms that infect the human intestine include *Diphyllobothrium latum* (fish tapeworm), *Taenia saginata* (beef tapeworm), *Taenia solium* (pork tapeworm) and *Hymenolips nana* (dwarf tapeworm) (Nagoba and Pichare, 2007). Intestinal trematodes are worms that infect the human include *Fasciolopsis buski*, Hepatic trematodes include *Faciola hepatica* and *Clonorchis sinensis* (Chatterjee, 2009). Intestinal nematodes are worms that infect human intestine include *Ascaris lumbricoides*, *Ancylostoma duodenale*, *Enterobius vermicularis*, *Trichuris trichiura*, *Strongyloides stercoralis*, *Necator americanus* and *Trichinella spiralis* (Nagoba and Pichare, 2007).

Helminths are parasites that live in the infected human gut and can be transmitted through contaminated food or water, or through contact with infected soil or feces. Intestinal helminths infestation is rarely fatal, but they may impair growth, physical fitness, cognition, and reduce children school attendance and performance (Bethony et al., 2006) by causing a range of symptoms, including diarrhea, abdominal pain, and weight loss. In some cases, they can also lead to more serious health problems, such as anemia or malnutrition (khurana et al., 2011). Chronic helminthiasis causes protein-energy malnutrition, iron deficiency anemia, stunting of growth, cognitive impairment, organ damage, deficiency in vitamins (A, B6, B12) and minerals (iron, calcium, and magnesium), block nutrient absorption and diminish immunity, thereby predisposing subjects to serious diseases (Sartorius et al., 2021).

Intestinal helminths infestation is widespread in the tropics and subtropics, and it affects more than 1.5 billion people worldwide, particularly among children in developing countries where sanitation and hygiene are poor (Hotez et al., 2008). A high prevalence of intestinal helminths infection among school age children, reaching 70.8% in some regions (Tekalign et al., 2019). The scarcity of basic health facilities along with limited access to clean water and soap which are the basis of hygiene; therefore, lead to persistence of helminthiasis (Sartorius et al., 2021).

Stool examination is the most common method used to detect intestinal helminths and considered as the most sensitive and specific method for intestinal helminths detection, with a sensitivity of 91.4% and a specificity of 99.1% (Khurana, 2011). It involves microscopic examination of stool samples for the presence of eggs, larvae, or adult worms. Serological tests can also be used to detect antibodies to specific helminths in the blood, which can indicate an active infection. Serological tests can be useful for detecting helminths infections in areas where stool examination is not feasible (WHO, 2021). Imaging studies, such as ultrasound or computed tomography scans, can also be used to detect more severe infections or complications (Khalifeh, 2019).

A faecal examination is the most common method used for prevalence study of helminths infection because it is simple, effective, and non-invasive for detecting entire parasites (Choi et al., 2017). Thus, it has been used in this study with a questionnaire to study the prevalence of intestinal parasites in Aljmail city of Libya. Information

about the occurrence of gut parasites is a crucial step to eradicating or controlling the helminth infestation and there is a lack of information about intestinal helminths prevalent in Libya, particularly in Aljmail city. Therefore, we aimed to study the helminths infection including the presence of ova or adult worm in stool samples in addition to determining the worm type. This would add more knowledge to helminths eradication strategies, which could be useful to be used by people or health authorities in the area.

2. Materials and Methods

2.1. Sample Collection and Analysis

Over a period of four months from March to June 2023, 66 faeces samples were randomly collected from patients at different ages based upon the request of physicians for stool examination. The stool examination was carried out in the Medical Laboratory at Kimat Attafawok Clinic, Aljmail, Libya. The faeces samples were collected in clean, dry, waterproof containers containing no detergents, preservatives, or transport media. The faeces samples were collected in clean, dry, waterproof containers containing no detergents, preservatives, or transport media. Adequate faecal amounts (1-2 ml or 1-2 g) were transferred to clean, dry specimen containers to observe worm's ova and adult worms or their portions. After that, the samples were mixed with saline and iodine preparation then examined microscopely for the detection of the presence of helminths. Liquid stool specimens were examined immediately or within 30 minutes of passage, the semi-formed and soft stool specimens tested within 60 minutes to detect trophozoites motile. If trophozoites were not expected, formed stools were examined within 24 hours after collection. In the case of delay in process, formed stool samples were kept in airtight containers at 4°C to avoid the dryness of the samples (Arora. 2007). To prevent further development of some helminthic eggs and larvae in the stored faecal samples, Formalin or Merthiolate-iodine-formalin were added as a preservative's solutions (Arora. 2014).

2.2. Questionnaire of the subjected patients to qualitative detection of intestinal worms.

A questionnaire was carefully prepared and build-up to determine the correlation between the incidences of intestinal helminths in subjected patients to qualitative detection of intestinal worms. Moreover, to determine the risk factors such as personal and food hygiene that related to prevalence of intestinal worms infestation.

2.3. Interpretation of results

Detection of helminths ova or adult helminths or any part of them in the qualitative examination of human faeces samples indicates infected patients by helminthiasis. Non-detection of helminths ova or adult helminths or any part of them in the qualitative examination of human faeces samples that indicate to absence of infected patients by helminthiasis.

2.4. Statistical Analysis

Data obtained in this study were analyzed using CHI-Square. A statistically significant difference was considered if $P < 0.05$ was obtained.

3. Results and Discussion

The qualitative detection of helminthes in 66 patients faeces samples revealed that 23(34.8%) were infected with helminthes while helminthes were not in 43(65.2%) of samples (Table 1). This figure is considered high comparing to other prevalence Libyan studies reported that, the infection was 14.9% in Sebha city, (Ibrahim *et. al.*, 2020), 14.6% among schoolchildren in Tripoli city (Ben Musa. *et. al.*, 2007), 29.6% in Nalout city (Al Kilani *et.al.*, 2008), 28.8% of *Giardia lamblia* and 16.3% of *Entamoeba histolytica* Sirt city, and in Zawia city was high 69.6% (Shawesh *et. al.*, 2019). In our result, the prevalence was high corresponding to Nalout, Sirt, and Zawia studies, which might be due to pastoralism nature of these areas that leads to more chance of contamination of soil with soil-transmitted helminth from animals. In contrast, Tripoli and Sebha cities are big cities where animal husbandry is limited.

The detected helminths types were *Enterobius vermicularis* 22(33.3%) and *Strongyloides stercoralis* (1.5%) (Table 2). While protozoa types that associated with intestinal worms infestation were *Entamoeba histolytica* and *Giardia lamblia* (Table 5). Similar results were reported in Zawia city revealing that *Entamoeba histolytica* and *Giardia lamblia* were the most common parasites (Shawesh *et. al.*, 2019). Another study among schoolchildren in Tripoli reported that *Giardia lamblia* was common parasite, followed by *Enterobius vermicularis* and then *Ascaris lumbricoides* (Ben Musa *et. al.*, 2007). Determination of helminth and the protozoa type present in the gut as well as the levels of pus cells and red blood cells in the stool is important in terms of provide information about the underlying patient condition and help for appropriate treatment and preventive strategy (Garcia *et. al.*, 2017).

Human stool investigation is important to provide information about the burden of parasitic infections, the prevalence and distribution of worms, and help guide public health in reducing the transmission and effects of these infections (Olsen.2009).

Based on gender group, we found that infected males with helminths were 4(6.1%) and females were 19(28.8%) this were statistically significant ($P < 0.05$) (Table 3). Similar results were reported elsewhere (Shawesh *et. al.*, 2019); (Tekalign *et. al.*, 2017); (Agustaria *et. al.*, 2019). Differences in prevalence between male and female might

be due to females (mothers) were more likely get the infection from their children who may acquire the infection from school or from contacting other children. This may be supported by our findings, as helminths infection was higher among children compared to adult (Table 4). The helminths infestation was high 10(15.1%) among 1-7 years old, and 4(6.1%) among 8-14 years old ($P < 0.05$). Children may acquire the worm infection from school, contacting other children or from their mothers while taking care of them, which may relate to poor hygiene at school or home (Agustaria *et. al.*, 2019). Relationship between age and intestinal worm infestation is important for comprehending of determinants, occurrence, and distribution of these infections, and improving targeted precluding and treatment systems (Crompton. 1999). In addition to the fact that, stool examination of entire family is important for providing an understanding of the prevalence, intensity, and clinical manifestations for success helminths treatment (WHO. 2015).

Clinical symptoms of intestinal helminths infestation are different in severity; light infestation could be asymptomatic while heavy infestation may cause serious illness that mostly related to digestive system however, chronic infestation might include symptoms such as anemia, growth retardation and general weakness (Degarege *et. al.*, 2022). In our study, abdominal pain was more common 17(25.7%) statistically significant ($P < 0.05$) other digestive symptom include nausea 4(6.1%) and frequent vomiting 12(18.2%). These symptoms might be resulted from the effect of heavy worms infestation which may block intestine lumen, interfering with digestion and absorbance of food, mucosa inflammation and irritation (Gedefaw, 2018) The presence of helminths in the intestine also causes other abdominal complications such as flatulence and diarrhea, particularly when intestinal infection associated to another infection as *E. histolytica*. In this study, both flatulence and diarrhea were 12(18.1%). In some cases, the presence of helminths in the intestine can lead to bloating, and malabsorption of nutrients, which can further contribute to the development of diarrhea (Al-Mekhlafi, 2019). Patients that have worms infestation may also suffer from loss of appetite due to inflammation or irritation, which can lead to abdominal pain and discomfort and further contribute to the loss of appetite (Gopalakrishnan, 2015). All these complications and symptoms that occurs in the abdomen region of the worm-infected patient may lead to malnutrition, which causes anemia. In our result, the anemia was statistically significant ($P < 0.05$) among helminths-infected patients 15(22.7%) (Table 6). Anemia is important when trying to detect worms in human stool because certain helminths infestations can cause chronic blood loss, which can lead to iron-deficiency anemia (Gedefaw, 2018).

Infected patients with worms and one of their family members who suffer from worm infestation were 08(12.2%). Differences in the prevalence of intestinal worms concerning family members were statistically insignificant (Table 6). This was surprising because interfamilial parasitic infestation is very common. In this study, interfamilial parasitic infestation was statistically insignificant might be due to low load of helminths, which may pass to patient gut from contaminated soil or food. Moreover, our result showed that pinworm (*Enterobius vermicularis*) infestation is the most among the patients, which is often asymptomatic (Rawla and Sharma. 2023). Anal itching is the most common symptom of pinworm; *Enterobius vermicularis* (Rawla and Sharma. 2023), in this study 17(25.7%) patients were suffering from anal itching. This was expected ($P < 0.05$) because the nature of the female pinworms (*Enterobius vermicularis*) to lay their eggs around the anus that hatch and appear as larvae, then retain back into intestine, and develop into adult parasite, all of these can move in the bowel, reach and pass through the anal region causing itching (Gopalakrishnan, 2015). In this study, Pinworms *Enterobius vermicularis* was the most type of worm infection 33%, this may explain the statistically significant ($P < 0.05$) of anal itching (Table 6). Moreover, important of the anal itching in terms of personal hygiene as 14(21.2%) of patients had long nails at ($P < 0.05$), long nails carry worm eggs under nails after itching thus can transmit worm infection to others (Table 6). Poor hygiene practices, such as not washing hands after using the toilet, not wearing shoes in areas with contaminated soil, or eating unwashed fruits and vegetables, can increase the risk of helminths infestation (Wuletaw. 2019).

The incidence of worm infection in patients who have a primary or lower - educational level were 21(31.8%), differences in prevalence were statistically significant ($P < 0.05$). lower – education patients are more likely to be exposed to worm infection than others due to reduced health awareness about prevention of parasites infestation (Table 6). Individuals with lower levels of education mostly are low income living condition and may have less knowledge about hygiene practices and limited access to healthcare services, which can increase the risk of helminths infections.

Conclusions

Based on this study, the prevalence rate of intestinal helminths infection was 34.8 %. Regarding age, children aged 1-7 years were more infected than other age groups, with *Enterobius vermicularis* being the predominant helminths. Concerning gender, female patients were infected with helminths more than in males. Some patients, who were infected with intestinal helminths infection, have been associated with various infections such as *Entamoeba histolytica*, and *Giardia lamblia*. some intestinal helminths patients have associated various complaints such as abdominal pain, frequent vomiting, anaemia, and anal itching. Some patients may have less knowledge about hygiene practices.

Therefore, it is necessary to diagnose children and other people with helminths infection. Educate mothers in preventing intestinal worm infections among their children. Treatment of infected cases, health awareness, and personal hygiene will be helpful to decrease the risk of helminths infection. The findings of the study provide insights into the prevalence and diagnosis of helminths infections, and it can be used to inform public health policies.

Table 1. Infected patients and non-infected patients by intestinal worms.

Categories	Infected patients	Non infected patients
Total number		
66 patients	23 (34.8 %)	43 (65.2%)

Table 2. Worms types that infected intestine of patients.

Infected patients	<i>Enterobius vermicularis</i>	<i>Strongyloides stercoralis</i>
23 (34.8 %)	22 (33.3 %)	01 (1.5%)

Table 3. Infected and non-infected patients by intestinal helminths based on gender.

Gender	Total number	Infected patients	Non-infected patients
Male	23(34.8%)	4(6.1%)	19(28.8%)
Female	43(65.2%)	19(28.8%)	24(34.8%)
66	P value = 0.029		

Table 4. Infected and non-infected patients based on their age.

Age	Total number	Infected patients	Non-infected patients
1-7 years	27(40.9%)	15(22.7%)	12(18.2%)
8-14 years	21(31.9%)	4(6.1%)	17(25.8%)
15-21 years	9(13.6%)	2(3%)	7(10.6%)
> 21 years	9(13.6%)	2(3%)	7(10.6%)
66	P value = 0.034		

Table 5. Protozoa types associated with intestinal worms infection.

Results of stool examination for Helminths detection	Total Number	Protozoa types associated to helminths infected patients		Pus cell	R.B. Cs	protozoa types non associated
		<i>E. histolytica</i>	<i>G. lamblia</i>			
Infected patients	23	2(3.0%)	7(10.6%)	4(6.1%)	0(0%)	10(15.2%)
Non-infected patients	43	5(7.5%)	9(13.6%)	10(15.2%)	3(4.5%)	16(24.2%)

Table 6. Prevalence of intestinal helminths according to questionnaire of patients.

No	Questionnaire	Type of Response	Number of responses	Number of infected patients	Number of non-infected patients	P-value
1-	Do you suffer from abdominal pain?	Yes	57(86.4%)	17(25.7%)	40(60.6%)	0.031
		No	9(19.6%)	6(9.1%)	3(4.5%)	
2-	Do you suffer from anaemia?	Yes	22(34.4%)	15(22.7%)	7(10.6%)	0.000
		No	44(66.7%)	8(12.1%)	36(54.5%)	
3-	Are you suffered from frequent nausea?	Yes	19(28.8%)	4(6.1%)	15(22.7%)	0.135
		No	47(71.2%)	19(28.8%)	28(42.4%)	
4-	Are you suffered from frequent vomiting?	Yes	20(30.3%)	12(18.2%)	8(12.2%)	0.005
		No	46(69.7%)	11(16.6%)	35(53.1%)	
5-		Yes	52(78.9%)	18(27.3%)	34(51.5%)	0.939

	Do you suffer from loss of appetite?	No	14(21.2%)	5(7.5%)	9(13.6%)	
6-	Do you suffer from flatulence?	Yes	29(43.9%)	12(18.1%)	17(25.7%)	0.324
		No	37(56.1%)	11(16.6%)	26(39.3%)	
7-	Do you suffer from diarrhea faeces?	Yes	27(40.9%)	12(18.1%)	15(22.7%)	0.173
		No	39(59.1%)	11(16.6%)	28(42.4%)	
8-	Do you suffer from anal itching?	Yes	30(45.5%)	17(25.7%)	13(19.6%)	0.001
		No	36(54.4%)	6(9.1%)	30(45.5%)	
9-	Do you have any family member who suffer from helminths infection?	Yes	26(39.3%)	8(12.2%)	18(57.6%)	0.575
		No	40(60.6%)	15(22.7%)	25(37.9%)	
10-	Poor hygiene (long nails)	Yes	15(22.7%)	9(13.6%)	6(9.1%)	0.020
		No	51(77.3%)	14(21.2%)	37(56.1%)	
11-	Education level	Primary or less	47(71.2%)	21(31.8%)	26(39.4%)	0.008
		Secondary or higher	19(28.8%)	02(3%)	17(25.8%)	

References

- [1] Agustaria, G., Fazidah, A. S., & Nurmaini, N. (2019). The Relationship of Gender, School Sanitation and Personal Hygiene with Helminthiasis at Juhar Karo Regency in North Sumatera Province, Indonesia. *Open access Macedonian journal of medical sciences*, 7(20), 3497–3500. <https://doi.org/10.3889/oamjms.2019.686>
- [2] Al Kilani MK, Dahesh SM, El Taweel HA. Intestinal parasitosis in Nalout popularity, western Libya. *J Egypt Soc Parasitol*. 2008 Apr;38(1):255-64. PMID: 19143135.
- [3] Al-Mekhlafi, H. M., et al. (2019). Burden of soil-transmitted helminth and its association with lower gastrointestinal symptoms among Orang Asli schoolchildren in rural Malaysia. *Journal of Parasitic Diseases*, 43(3), 401-408.
- [4] Arora B and Arora D.R(2007) Practical Microbiology. In:Parasitology,1st Edition. New Delhi: satish kumar jain for CBS publisher and distributors, pages, 81-84.
- [5] Arora D.R. and Arora Brij Bala.(2014) Medical Parasitology, 4th Edition. New Delhi: satish kumar jain and produced by vinod kumar jain for CBS publisher and distributors Pvt Ltd, pages 241-246.
- [6] Al-Saeed, A. T., et al. (2019). Prevalence and clinical manifestations of intestinal helminths among school children in Taiz city, Yemen. *Journal of Parasitic Diseases*, 43(4), 692-697.
- [7] Ben Musa N, Sehari A, Hawas A. Intestinal parasitic infections among school children in Tripoli, Libya. *J Egypt Soc Parasitol*. 2007 Dec;37(3):1011-6. PMID: 18383800.
- [8] Bethony J, Brooker S, Albonico M, Geiger SM, Loukas A, Diemert D, et al. (2006) Soil-transmitted helminth infections: Ascariasis, trichuriasis, and hookworm. *Lancet* 2006;367:1521-32.
- [9] Braveja CP. (2006) Practical Microbiology for MBBS, 2nd Edition. New Delhi: ARYA Publications (A unit of Avichal Publishing Company), pages. 113-115
- [10] Chatterjee K.D. (2009) Parasitology (Protozoology and Helminthology), 13TH Edition. New Delhi: satish K Jain and produced by vinod K jain for CBS publishers and distributors Pvt. Ltd. Pages,143.
- [11] Choi, S. H., Lee, C., Yang, J. I., Kwak, M. S., Chung, G. E., Kang, H. Y., Chung, S. J., Yim, J. Y., & Kim, J. S. (2017). Identifying Helminth Infections via Routine Fecal Parasitological Examinations in Korea. *The American journal of tropical medicine and hygiene*, 97(3), 888–895. <https://doi.org/10.4269/ajtmh.17-0084>
- [12] Cox FE. History of human parasitology. *Clin Microbiol Rev*. (2002) Oct;15(4):595-612. doi: 10.1128/CMR.15.4.595-612.2002. Erratum in: *Clin Microbiol Rev*. 2003 Jan;16(1):174. PMID: 12364371; PMCID: PMC126866

- [13] Crompton, D. W. (1999). How much human helminthiasis is there in the world.
- [14] Cryan JF and O'Mahony SM. (2011) The microbiome-gut-brain axis: from bowel to behavior. *Neuro gastro enterol Motil.* 2011;23(3):187-192. doi:10.1111/j.1365-2982.2010.01664.
- [15] Degarege A, Erko B, Negash Y, Animut A.(2002) Intestinal Helminth Infection, Anemia, Undernutrition and Academic Performance among School Children in Northwestern Ethiopia. *Microorganisms.* 2022 Jul 5;10(7):1353.
- [16] Garcia, L. S., Arrowood, M., Kokoskin, E., Paltridge, G. P., Pillai, D. R., Procop, G. W., Ryan, N., Shimizu, R. Y., & Visvesvara, G. (2017). Practical Guidance for Clinical Microbiology Laboratories: Laboratory Diagnosis of Parasites from the Gastrointestinal Tract. *Clinical microbiology reviews*, 31(1), e00025-17. <https://doi.org/10.1128/CMR.00025-17>
- [17] Gedefaw, L., et al. (2018). Prevalence and predictors of anemia among school-age children in Ethiopia: a systematic review and meta-analysis. *Journal of Tropical Medicine*, 2018, 8498621.
- [18] Gomes LI, Marques PX, Enk MJ, et al. (2019) Diagnostic accuracy of five serologic tests for *Strongyloides stercoralis* infection. *PLoS Negl Trop Dis.*;13(5):e0007363. doi:10.1371/journal.pntd.0007363
- [19] Gopalakrishnan, S., et al. (2015). A study on soil transmitted helminths among primary school children in Villupuram, Tamil Nadu. *Journal of Parasitic Diseases*, 39(4), 679-683.
- [20] Hill C, Guarner F, Reid G, et al. (2014) Expert consensus document: The International Scientific Association for Probiotics and Prebiotics consensus statement on the scope and appropriate use of the term probiotic. *Nat Rev Gastroenterol Hepatol.* 2014;11(8):506-514. doi:10.1038/nragastro.2014.66
- [21] Hotez PJ, Brindley PJ, Bethony JM, King CH, Pearce EJ, Jacobson J.(2008) Helminth infections: the great neglected tropical diseases. *PLoS Negl Trop Dis.* 2008;2(9):e247. doi:10.1371/journal.pntd.0000247.
- [22] Ibrahim, H.M. and Salem, A.H., (2020). Prevalence of intestinal parasitic infections among people in Sebha city, Libya. *Journal of Pure & Applied Sciences*, 19(2), pp.6-12.
- [23] Khalifeh MS, Stoll BJ, Lang DM, et al. (2019) Helminths infections and risk of inflammatory bowel disease: a systematic review and meta-analysis. *Parasit Vectors.* 2019;12(1):483. doi:10.1186/s13071-019-3717-1.
- [24] Khurana S, Dubey ML, Malla N. (2011) Comparative evaluation of stool microscopy, modified formalin-ethyl acetate concentration technique and enzyme-linked immunosorbent assay for intestinal helminth infections. *Parasitol Res.*;109(3):625-628. doi:10.1007/s00436-011-2264-4
- [25] Nagoba BS and pichare A.(2007) prep manual for undergraduates medical microbiology , 1st edition new Delhi : Elsevier , Reed Elsevier India private .
- [26] Olsen, A., van Lieshout, L., Marti, H., Polderman, T., & Polman, K. (2009). Diagnosis of helminth infections: current status and future directions. *Journal of Clinical*
- [27] Rawla P, Sharma S. *Enterobius Vermicularis*. [Updated (2023) Aug 1]. In: StatPearls [Internet]. Treasure Island (FL): StatPearls Publishing; 2023 Jan-. Available from: <https://www.ncbi.nlm.nih.gov/books/NBK536974/>
- [28] Sanchez-Vegas, C.; Villavicencio, K.L. (2022) Helminths infection. *Pediatric. Review.*, 43, 243–255.
- [29] Sartorius, B.; Cano, J.; Simpson, H.; Tusting, L.S.; Marczak, L.B.; Miller-Petrie, M.K.; Kinvi, B.; Zoure, H.; Mwinzi, P.; Hay, S.I.; et al. Prevalence and intensity of soil-transmitted helminth infections of children in sub-Saharan Africa, 2000–2018: A geospatial analysis. *Lancet Glob. Health* 2021, 9, e52–e60.
- [30] Shawesh, F., Elazomi, A., Almgherbi, M., Almaryami, O., Lajnaf, H. and Eh, A., (2019). Prevalence of intestinal parasitic infections in the City of Zawia, State of Libya. *Saudi J Biomed Res*, 3214, pp.212-5.
- [31] Tekalign, E., Bajiro, M., Ayana, M., Tiruneh, A., & Belay, T. (2019). Prevalence and Intensity of Soil-Transmitted Helminth Infection among Rural Community of Southwest Ethiopia: A Community-Based Study. *BioMed research international*, 2019, 3687873. <https://doi.org/10.1155/2019/3687873>
- [32] Tekalign, E.; Bajiro, M.; Ayana, M.; Tiruneh, A. and Belay, T. (2019). Prevalence and Intensity of Soil-Transmitted Helminth Infection among Rural Community of Southwest Ethiopia: A Community-Based Study. *BioMed Res. Int.* 2019, 3687873.
- [33] World Health Organization. (2015). Gender, health and the 2030 Agenda for sustainable development. <https://www.who.int/gender-equity-rights/knowledge/gender-health-2030-agenda/en>
- [34] World Health Organization. (2021). Soil-transmitted helminth infections. <https://www.who.int/news-room/q-a-detail/soil-transmitted-helminth-infections>.
- [35] Wuletaw Y., et al. (2019). Prevalence and Associated Factors of Soil-Transmitted Helminths among School Children in Hawassa City, Southern Ethiopia. *Journal of Parasitology Research*, 2019, 1-7.